SIMPLE GEAR TRAIN
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COMPOUND GEAR TRAIN
B
K Compound gear trainsinvolve several pairs of meshing gears.
"&' They are used where large speed changes are required or to

get different outputs moving at different speeds.

Gear ratios (or velocity ratios, VR) are calculated using the same
principle as for simple gear trains, i.e. VR = number of teeth

on the driver gear divided by the number of teeth on the driven gear.
However, the velocity ratio for each pair of gears must then be multiplied
together to calculate the total velocity ratio of the gear train:

Total VR =VR1 x VR2 x VR3 x VR4 etc.

no of teeth on B no of teeth on D
Gear Ratio =
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